:3udsgr¢;1wgbgslj‘J;mwyﬁﬁmr,;mﬁpwl

= 4 e
B 20 60° szl t = 4554, 100 (2 N45°Eolsslr=60m (1
N A
- & N
\Q‘(‘*v = D0 }a’;d. ‘C("‘SBQ"\_\
vA ;5/
? i :
> S Y

rY

tdlesll °L?=?'L55200fbh~p5‘w,ul s 45° owuguyuﬂmoo&a;w .LMULM ,;a’;‘..", 3

4]

f-zma?_ | 2 . bosst il t3
= o+ P U8 4 & g = v
b_ 20k Co e i
= a 200f\ s e T
- s ) = ; i >
o Bl | ) I s ol | 2L " R o i e
- \2e0) Lo o e WSO Sind -~ ydN. v
{ it !
-104o o0 +122%0),] N s Sina .
- U™ L ; g = o
A w E A 2 H.o06

= \}50’3“ 2
- ®_52 - 350

_qa,r"ys@z;z%@_.‘l:sLJ|}{J60NLM|4£A3}E,.¢L-_,;IJAL,chhsyae@;-l-h—o‘-u"%&@% el (4
Ol LS o L G paall G alll oo L 55 AV aull Lo 23985 ol (a

5 ‘e 230N

JuUwLJb“ LadVl S ol e JS Sdias w40 (b
X =he OB UL = YU.5%q
A Lo G ) - LjD J"‘% I\J

J ¥ B0 9 1 e
ol U_aSO mi/h ie o CL'J'H o 13) JLQ.MJ'I ol:-ulu_e500m1/h ey a_).:Ua(;-,.Jou :Ode (5
ga;__w?;"? __ I .3 slall & AL loss .J.g—_gb
N iy
F ‘ 5 e T --m“(b’:ﬁ
| aJ Ot W a4
W § .; 4 {:_ - Sy & 7(‘:,) v ‘i,:\\é-




